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=X 61.8 | — | 1,187,286 | # W& WY 88.5 | 30 1,488
T ¥ o 53.1| 76 160,722 | & % W 85.4 | 38 2,782
¢k T 77.7| 53 19,506 |./In B, JIl HT 86.3 | 36 6,275
moN 4421 79 74,810 | 1L FH HT 95| 6 2,611
o/ 55.1 | 75 104,756 | & R HT 93.2 | 10 1,243
g o M 73.9 | 60 13,547 [ & & #r 87.6 | 33 4,147
| AE &S 63.6 | 70 25,015 | T B Hr 959 | 4 1,807
w oA W 505 | 77 82,738 | I E HT 92.6 | 12 4,081
o\ oM 72.9 | 63 27,103 | #8 £ HT 82.4 | 49 2,439
e | W 79.4 | 50 11,221 | 8Kk [ #T 85.3 | 39 2,727
R M 74.7 | 58 21,484 | 3¢ mr 89.4 | 26 2,905
[/ = i 11 55.2 | 74 16,069 | B 2 HT 92.6 | 12 2,373
e B W 78.0 [ 51 39,259 | kg BT 85.1 | 42 10,692
W o i 77.9 | 52 12,903 | Fu+JuBERT 90.1 | 24 5,242
N B 83.5 | 46 7,775 | RO wy 85.3 | 39 5,812
ik fiil 75.8 | 55 8,880 | i @& T 93.3 9 4,934
G 48.2 | 78 26,754 | E B 9.6| 3 1,153
H il 60.5 | 72 64,038 | #& & HT 87.1| 34 2,768
B W 66.2 | 67 5,937 | #& = WT 83.9 | 44 3,617
i il 64.7 | 69 56,575 | % 14 WY 89.2 | 27 1,975
oo 67.0 | 66 31,914 | — & Wy 82.9 | 47 2,790
N F K 59.0 | 73 30,508 | B R HET 946 | 7 2,101
% Bk F A 64.8 | 68 26,699 [ £ 4 H 92.4 | 14 3,412
oA 73.1| 61 7,464 | B F HT 91.8 | 18 3,383
%k r o 70.2 | 65 22,418 | & W W7 89.1 | 28 2,051
E od 62.5 | 71 17,748 | £ B 935| 8 2,712
B OB f 82.6 | 48 12,709 | X & = 0T 83.3 | 32 3,062
W o& 42.2 | 80 19,755 | 32 [ AT 91.4{ 19 2,028
o E 74.5 | 59 18,412 | 1 18 WY 89.6 | 25 2,270
#hor W 73.0 | 62 12,052 [ x B AT 85.7 | 37 5,387
N 5 m 84.6 | 43 16,083 | i my 88.6 | 29 3,844
Bl % 75.3 | 57 12,364 | B W BT 88.5 | 30 1,568
18 1w A 92.4 | 14 8,121 | & b T 91.4 | 19 1,786
W o on 76.3 | 54 9,781 | & m A 91.9 | 17 3,156
| W & Fur 72.4 | 64 4,697 | = % H 976 2 1,205
B OB 6T 75.8 | 55 1,184 | B & AT 20.8 | 21 1,988
g & 87.0 | 35 2,109 | + & ®T 90.8 | 21 3,868
B H# T 83.9 1 44 11,401 | fu 1o BT 956 | 5 1,613
A K 98.8 1 1,037 | f0 M HT 92.1] 16 1,705
% iy 90.5 | 23 6,460 | R#t/ gy 85.3 | 39 2,284
T % HT 93.21 10 1,994
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